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1l K& FERASIF 34 35 69
2 RAR K& FEBXR—SIE 38 33 71
3HHE = BEXRSIE 37 34 71
4 TH =X TFERHAS2E 38 34 72
50 &HH KA ES245E 41 35 76
6 A REGR wRAES1F 38 38 76
1N BE FEZ=EIF 39 38 77
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9 =1L Fnsst FERBASIE 38 39 77
10 HF)I| = R ES1F 39 39 78
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12 BTE & FERHAS1E 40 39 79
13 ;T BX KA ES3IE 38 41 79
14 WA gE3 R ES3IFE 41 39 80
15 K#th HIE RS 1E 43 39 82
16 FA& REE FEFES2F 40 42 82
17 h% 2 ESRaN=ak:d 44 40 84
18 LR K= BEEXMTEESIFE 44 40 84
19 AHE FHRE ReKREZ24 47 40 87
20 B KK FHNFKE25E 44 43 87
21 =1 BN ARAETESIE 46 42 88
22 BE E3} wXRAES1F 46 43 89
23 —H & BEZES1F 57 59 116
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